Sampling snow leopards

Koustubh Sharma & Justine Shanti Alexander
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Spot the Cat




Spot Count the cat
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Count the cat now?
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Camera traps rock!




Following Anu
The Queen of Tost



All animals have home ranges

Name

F13
F14
M14
M15
M18




Our first virtual snow leopard
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Our first virtual snow leopard
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Activity Center
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5% Activity Range
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Variance & Standard Deviations

95% CI




20 = 95% activity range
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Activity Center




Camera traps & a snow leopard
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Trapping a snow leoparad




Do we see a shape?
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But we don’'t know the center
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But we don’'t know the center
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We also don’'t know the range
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Nor the Encounter Rate

 LambdaO (AO)
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Maximum Likelihood
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For two snow leopards




What if there are many snow leopards?

5000 1

40001

3000 1

20001

1000 A

X
X ] F L><
o
XX
ZE
X X
T A 5 I><
XC $<
Q D
Rj§<
W
X “-x ;
X
p




The fun way!
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And we have 50 cameras
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Datasets: trap location
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Datasets: trap location

CamlID Cam.x
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Datasets: capture data

#session ID occasion traplD
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Loading the data

all.data.gummy<-read.capthist(captfile="gummycap.csv",
trapfile = "gummytrap.csv”,
detector = "count", fmt="trapID")



What is our study area?
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X and N are from outside!
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What is our study area?
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What is our study area?
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What is an integration space?
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What resolution to choose?
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Data summary

1

1 occasion, 387 detections, 17 animals

Total count: 17
Detections 387

Detectors visited:41

Detectors used: 50



Cats never captured?
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Detection Probability (p)

 Unknown number of animals NOT seen

* An unknown proportion of total animals
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Running the analysis

gummy.hhn<-secr.fit(all.data.gummy,
model = list(D~1, lambda0~1, sigma~1),
detectfn="HHN", mask=Mask.gummy)

coefficients(gummy.hhn)
predict(gummy.hhn)
region.N(gummy.hhn)
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Our estimates
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SCR assumptions



